

R. P. SINGH (\*)

On Generalized Truesdell Polynomials. (\*\*)

1. - The classical orthogonal polynomials have a generalized RODRIGUES' formula [4]

$$(1.1) \quad P_n(x) = \frac{1}{K_n w(x)} D^n[w(x) X^n] \quad \left( D = \frac{d}{dx} \right),$$

where  $K_n$  is a constant,  $X$  is a polynomial in  $x$  whose coefficients are independent of  $n$  and  $w(x)$  is the weight function. If  $\frac{w'}{w}$  is a linear function of  $x$ , say  $\Phi(x)$ , then the operational formulae for these polynomials are given as follows.

Consider

$$D^n[w(x) X^n \cdot f(x)] = D^{n-1}[w(x) X^{n-1} \cdot (\Phi(x) X + nX' + XD) f(x)],$$

and by iteration it yields

$$D^n[w(x) X^n \cdot f(x)] = \prod_{j=1}^n [X(\Phi(x) + D) + jX'] f(x),$$

where the product has been taken in the operative sense and the factors do not commute.

Also

$$D^n [w(x) X^n \cdot f(x)] = \sum_{k=0}^n \binom{n}{k} D^{n-k}(w(x) X^n) D^k f(x),$$

(\*) Indirizzo: Dept. of Maths., Regional College of Education, Bhopal (M. P.), India.

(\*\*) Ricevuto: 14-II-1967.

thus we have

$$(1.2) \quad \prod_{j=1}^n [X (\Phi(x) + D) + jX'] = \frac{1}{w(x)} \sum_{k=0}^n \binom{n}{k} D^{n-k} (w(x) X^n) D^k.$$

In particular, if  $f(x) = 1$ ,

$$(1.3) \quad P_n(x) = \frac{1}{k_n} \prod_{j=1}^n [X (\Phi(x) + D) + jX'].$$

The operational formulae for HERMITE, LAGUERRE and JACOBI polynomials have been discussed in [1], [2], [9]. It may be remarked here that the method is equally effective for obtaining operational formulae for non-orthogonal polynomials and functions which admit the RODRIGUES' formula. GOULD and HOPPER [6] have discussed the operational relations for generalized HERMITE functions, while CHATTERJEA [3] has discussed them for BESSEL polynomials. These relations are easily derived if we use the above technique.

## 2. - Generalized Truesdell polynomials.

TRUESDELL polynomials [5] are defined as

$$(2.1) \quad T_n^\alpha(x) = x^{-\alpha} e^x \left( x \frac{d}{dx} \right)^n [x^\alpha e^{-x}].$$

TOSCANO [10] has also considered the same class of polynomials.

We now define generalized TRUESDELL polynomials by the relation

$$(2.2) \quad T_n^\alpha(x, r, p) = x^{-\alpha} e^{px} \left( x \frac{d}{dx} \right)^n [x^\alpha e^{-px}].$$

We shall first write some relations concerning the operator  $x \frac{d}{dx} = \delta$ , which will be useful in our investigations.

*Some relations:*

$$(2.3) \quad \delta^n(x^\alpha) = \alpha^n x^\alpha,$$

$$(2.4) \quad e^{t\delta}(f(x)) = f(x e^t),$$

$$(2.5) \quad \delta^n(uv) = \sum_{k=0}^n \binom{n}{k} \delta^{n-k} u \delta^k v,$$

$$(2.6) \quad e^{t\delta}(uv) = e^{t\delta}u \cdot e^{t\delta}v.$$

Using (2.4) and (2.6), the generalized relation may be written as

$$(2.7) \quad e^{t\delta} [f_1(x) f_2(x) \dots] = f_1(x e^t) f_2(x e^t) \dots,$$

$$(2.8) \quad F(\delta) (x^\alpha f(x)) = x^\alpha F(\delta + \alpha) f(x),$$

$$(2.9) \quad F(\delta) (e^{g(x)} f(x)) = e^{g(x)} F(\delta + g') f(x).$$

The generalized rule of differentiation for this operator is of the form

$$(2.10) \quad \delta_x^n f(z(x)) = \sum_{k=0}^n \frac{(-1)^k}{k!} \frac{d^k}{dz^k} f(z) \sum_{j=0}^k (-1)^j \binom{k}{j} z^{k-j} \delta_x^n z^j.$$

For ordinary differentiation, see [8].

To prove it, consider

$$(2.11) \quad \delta_x^n f(z(x)) = \sum_{k=0}^n A_k^n(x) \frac{d^k}{dz^k} f(z),$$

where the coefficients  $A_k^n(x)$  satisfy the recurrence relation

$$(2.12) \quad A_k^n(x) = A_{k-1}^{n-1}(x) \delta_x z + \delta_x A_k^{n-1}(x),$$

and

$$A_0^n(x) = 1, \quad A_k^n(x) = 0 \quad \text{whenever } k \leq 0 \text{ or } k > n.$$

It is easily verified that (2.12) holds for  $n = 1, 2, 3, \dots$ , and assume that it holds for a fixed  $n$ . Operating on (2.11) once with respect to  $\delta_x$ , we find that

$$\begin{aligned} \delta_x^{n+1} f(z(x)) &= \sum_{k=1}^{n+1} A_{k-1}^n(x) \delta_x z \frac{d^k}{dz^k} f(z) + \sum_{k=0}^n \delta_x A_k^n(x) \frac{d^k}{dz^k} f(z) = \\ &= \sum_{k=0}^{n+1} [A_{k-1}^n(x) \delta_x z + \delta_x A_k^n(x)] \frac{d^k}{dz^k} f(z) = \sum_{k=0}^{n+1} A_k^{n+1}(x) \frac{d^k}{dz^k} f(z), \end{aligned}$$

which establishes the validity of (2.12).

Again to find the explicit form of  $A_k^n(x)$ , we proceed as follows:  
Consider (being  $z = z(x)$ )

$$\begin{aligned} \delta_x^n (z-y)^k ]_{y=z} &= \sum_{j=0}^n A_j^n(x) \frac{d^j}{dz^j} (z-y)^k ]_{y=z} \\ &= \sum_{j=0}^n A_j^n(x) j! \binom{k}{j} (z-y)^{k-j} ]_{y=z} = k! A_k^n(x). \end{aligned}$$

Also

$$\begin{aligned} \delta_x^n (z-y)^k ]_{y=z} &= \sum_{j=0}^k (-1)^{k+j} \binom{k}{j} y^{k-j} \delta_x^n z^j ]_{y=z} = \\ &= (-1)^k \sum_{j=0}^k (-1)^j \binom{k}{j} z^{k-j} \delta_x^n z^j. \end{aligned}$$

Therefore

$$A_k^n(x) = \frac{(-1)^k}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} z^{k-j} \delta_x^n z^j,$$

which completes the proof of (2.10).

The other formulae of interest which are immediate consequences of (2.10) are

$$(2.13) \quad \delta_x^n \left( \frac{1}{f(x)} \right) = \sum_{j=0}^n (-1)^j \binom{n+1}{j+1} \frac{\delta_x^n (f(x))^j}{(f(x))^{j+1}},$$

$$(2.14) \quad \delta_x^n \left( \frac{u}{v} \right) = \sum_{k=0}^n \binom{n}{k} \delta_x^{n-k} u \sum_{j=0}^k (-1)^j \binom{k+1}{j+1} \frac{\delta_x^n (v)^j}{(v)^{j+1}}.$$

### 3. - Some operational formulae.

Consider

$$\begin{aligned} x^{-\alpha} e^{px^r} \left( x \frac{d}{dx} \right)^n (x^\alpha e^{-px^r} \cdot f(x)) &= \\ = x^{-\alpha} e^{px^r} \left( x \frac{d}{dx} \right)^{n-1} (x^\alpha e^{-px^r} \cdot (\alpha - p r x^r + x D) f(x)), \end{aligned}$$

and by iteration, we obtain

$$x^{-\alpha} e^{px^r} \left( x \frac{d}{dx} \right)^n (x^\alpha e^{-px^r} \cdot f(x)) = (\alpha - p r x^r + x D)^n f(x).$$

Again since

$$\begin{aligned} & x^{-\alpha} e^{px^r} \left( x \frac{d}{dx} \right)^n (x^\alpha e^{-px^r} \cdot f(x)) = \\ & = x^{-\alpha} e^{px^r} \sum_{k=0}^n \binom{n}{k} \left( x \frac{d}{dx} \right)^{n-k} (x^\alpha e^{-px^r}) \left( x \frac{d}{dx} \right)^k f(x), \end{aligned}$$

thus we obtain

$$(3.1) \quad (\alpha - p r x^r + x D)^n = \sum_{k=0}^n \binom{n}{k} T_{n-k}^\alpha(x, r, p) \delta^k.$$

In particular, if  $f(x) = 1$ ,

$$(3.2) \quad (\alpha - p r x^r + x D)^n \cdot 1 = T_k^\alpha(x, r, p).$$

Let us now define the operator

$$(3.3) \quad \alpha - p r x^r + x D = \mathfrak{D}.$$

The LEIBNIZ rule of differentiation for this operator admits the form

$$(3.4) \quad \mathfrak{D}^n(uv) = \sum_{k=0}^n \binom{n}{k} \mathfrak{D}^{n-k}u \delta^k v.$$

It is clear from (3.1) or (3.4) that

$$(3.5) \quad \mathfrak{D}^n = \sum_{k=0}^n \binom{n}{k} \mathfrak{D}^{n-k} (1) \delta^k.$$

Again

$$\mathfrak{D}^{n+k} = \mathfrak{D}^k \mathfrak{D}^n,$$

therefore

$$(3.6) \quad T_{n+k}^\alpha(x, r, p) = \mathfrak{D}^k T_n^\alpha(x, r, p) = \mathfrak{D}^n T_k^\alpha(x, r, p).$$

Using (2.5), we obtain

$$(3.7) \quad \delta^k T_m^\alpha(x, r, p) = \sum_{j=0}^k \binom{k}{j} T_{k-j}^{-\alpha}(x, r, -p) T_{m+j}^\alpha(x, r, p).$$

The use of (3.6) and (3.7) suggest that the inverse relation to (3.5) is

$$(3.8) \quad \delta^k = \sum_{j=0}^k \binom{k}{j} T_{k-j}^{-\alpha}(x, r, -p) \mathfrak{D}^j.$$

#### 4. - Generating function.

Starting with RODRIGUES' formula, we have

$$\begin{aligned} & \sum_{n=0}^{\infty} \frac{t^n}{n!} T_n^\alpha(x, r, p) = \\ & = x^{-\alpha} e^{px^r} \sum_{n=0}^{\infty} \frac{t^n}{n!} \delta_x^n (x^\alpha e^{-px^r}) = x^{-\alpha} e^{px^r} e^{t\delta} (x^\alpha e^{-px^r}). \end{aligned}$$

The use of (2.7) shows that

$$(4.1) \quad \sum_{n=0}^{\infty} \frac{t^n}{n!} T_n^\alpha(x, r, p) = \exp[\alpha t + p x^r (1 - e^{rt})].$$

A little calculation shows that

$$(4.2) \quad T_n^{\alpha+\beta}(x, r, p+q) = \sum_{k=0}^n \binom{n}{k} T_{n-k}^\alpha(x, r, p) T_k^\beta(x, r, q).$$

Returning to the operational relation (3.1), we have

$$e^{t\mathfrak{D}} f(x) = \sum_{n=0}^{\infty} \frac{t^n}{n!} T_n^\alpha(x, r, p) e^{t\delta} f(x),$$

which with the help of (2.4) and (4.1) yields

$$(4.3) \quad e^{t\mathfrak{D}} f(x) = \exp[\alpha t + p x^r (1 - e^{rt})] f(x e^t).$$

In case, if  $f(x) = 1$

$$(4.4) \quad e^{t\mathfrak{D}} (1) = \exp[\alpha t + p x^r (1 - e^{rt})].$$

The choice of  $f(x) = e^{px^r}$  yields

$$(4.5) \quad e^{t\mathfrak{D}}(e^{px^r}) = \exp[\alpha t + p x^r].$$

We also have

$$(4.6) \quad \sum_{n=0}^{\infty} \frac{t^n}{n!} T_{n+m}^{\alpha}(x, r, p) = \exp[\alpha t + p x^r(1 - e^{rt})] T_m^{\alpha}(x e^t, r, p).$$

Further, by combining the relation (3.1) and (3.8), we have the transitory relation

$$\begin{aligned} \mathfrak{D}_{\alpha,p}^n &= \sum_{k=0}^n \binom{n}{k} T_{n-k}^{\alpha}(x, r, p) \sum_{j=0}^k \binom{k}{j} T_{k-j}^{-\beta}(x, r, -q) \mathfrak{D}_{\beta,q}^j \\ &= \sum_{j=0}^n \mathfrak{D}_{\beta,q}^j \sum_{k=j}^n \binom{n}{k} \binom{k}{j} T_{n-k}^{\alpha}(x, r, p) T_{k-j}^{-\beta}(x, r, -q). \end{aligned}$$

Using the relation (4.2), it reduces to the form

$$(4.7) \quad \mathfrak{D}_{\alpha,p}^n = \sum_{j=0}^n \binom{n}{j} T_{n-j}^{\alpha-\beta}(x, r, p-q) \mathfrak{D}_{\beta,q}^j.$$

The above relation is analogous to that of GOULD and HOPPER [6].

### 5. - Expansion of the generalized polynomials.

The use of the relation (2.10) helps us in obtaining the explicit form of these polynomials. Indeed we have

$$\begin{aligned} T_n^{\alpha}(x, r, p) &= e^{px^r} \sum_{s=0}^n \binom{n}{s} \alpha^{n-s} \delta_x^s e^{-p x^r} \\ &= \sum_{s=0}^n \binom{n}{s} \alpha^{n-s} \sum_{k=0}^s \frac{p^k x^{rk}}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} (rj)^s \\ &= \sum_{k=0}^n \frac{p^k x^{rk}}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{s=k}^n \binom{n}{s} \alpha^{n-s} (rj)^s \\ &= \sum_{k=0}^n \frac{p^k x^{rk}}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{s=0}^n \binom{n}{s} \alpha^{n-s} (rj)^s, \end{aligned}$$

since

$$\sum_{j=0}^k (-1)^j \binom{k}{j} \sum_{s=0}^{k-1} \binom{n}{s} \alpha^{n-s} (rj)^s = 0,$$

being the  $k$ -th difference of a polynomial of degree  $k-1$ , and such a difference is zero whenever the order of the difference exceeds the degree of the polynomial. Therefore

$$(5.1) \quad T_n^\alpha(x, r, p) = \sum_{k=0}^n \frac{p^k x^{rk}}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} (\alpha + rj)^n.$$

Further, let  $E^n f(x) = f(x + rn)$ , and  $E=1 + \Delta$ , then (5.1) may be written as

$$T_n^\alpha(x, r, p) = \sum_{k=0}^n \frac{p^k x^{rk}}{k!} (1 - E)^k \alpha^n,$$

or more symmetrically

$$T_n^\alpha(x, r, p) = \sum_{k=0}^n \frac{(-p x^r \Delta)^k}{k!} \alpha^n = \sum_{k=0}^{\infty} \frac{(-p x^r \Delta)^k}{k!} \alpha^n.$$

Thus we have

$$(5.2) \quad T_n^\alpha(x, r, p) = e^{-p x^r \Delta} \alpha^n.$$

This relation may very well be regarded as the starting point of the present study. The generating function for these polynomials is now easily verified. Indeed we have

$$\sum_{n=0}^{\infty} \frac{t^n}{n!} T_n^\alpha(x, r, p) = e^{-p x^r \Delta} e^{\alpha t}.$$

Using the relation  $e^{k \Delta} e^{\alpha t} = e^{\alpha t} e^{k(e^{rt}-1)t}$ , the above relation reduces to (4.1).

STIRLING numbers and STIRLING polynomials [7] are defined as follows:

$$(5.3) \quad S(n, k) = \frac{(-1)^k}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} j^n = \frac{1}{k!} \Delta^k 0^n,$$

$$(5.4) \quad A_n(x) = \sum_{k=0}^n S(n, k) x^k.$$

Let

$$(5.5) \quad T_n^\alpha(x, r, -p) = \sum_{k=0}^n S^\alpha(n, k, r) p^k x^{rk},$$



so that from (5.1)

$$(5.6) \quad S^\alpha(n, k, r) = \frac{(-1)^k}{k!} \sum_{j=0}^k (-1)^j \binom{k}{j} (\alpha + rj)^n.$$

Then clearly

$$(5.7) \quad T_n(x, 1, -1) = A_n(x),$$

$$(5.8) \quad S(n, k, 1) = S(n, k).$$

Thus  $S^\alpha(n, k, r)$  and  $T_n^\alpha(x, r, -p)$  may very well be regarded as the generalized STIRLING numbers and STIRLING polynomials. A little calculation shows that

$$(5.9) \quad S^\alpha(n+1, k, r) = r S^\alpha(n, k-1, r) + (\alpha + rk) S^\alpha(n, k, r).$$

#### References.

- [1] J. L. BURCHNALL, *A note on the polynomials of Hermite*, Quart. J. Math. Oxford Ser. 12 (1941), 9-11.
- [2] L. CARLITZ, *A note on the Laguerre polynomials*, Michigan Math. J. 7 (1960), 219-223.
- [3] S. K. CHATTERJEA, *Operational formulae for certain classical polynomials*, (I). Quart. J. Math. Oxford Ser. (2) 14 (1963), 241-246.
- [4] A. ERDÉLYI, *Higher Transcendental Functions*, Vol. 2, McGraw-Hill, New York 1953 (cf. p. 164).
- [5] A. ERDÉLYI, *Higher Transcendental Functions*, Vol. 3, McGraw-Hill, New York 1955 (cf. p. 254).
- [6] H. W. GOULD and A. T. HOPPER, *Operational formulas connected with two generalizations of Hermite polynomials*, Duke Math. J. (1) 29 (1962), 51-63.
- [7] J. RIORDAN, *An Introduction to Combinatorial Analysis*, New York 1958.
- [8] I. J. SCHWATT, *An Introduction to the Operations with Series*, Philadelphia Press, University Pennsylvania 1924.
- [9] R. P. SINGH, *Operational formulae for Jacobi and other polynomials*, Rend. Sem. Mat. Univ. Padova 35 (1965), 237-244.
- [10] L. TOSCANO, *Una classe di polinomi della Matematica attuariale*, Riv. Mat. Univ. Parma 1 (1950), 459-470.

